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This material has been prepared in accordance with The TamilNadu
Government State Board Syllabus. | am very happy to inform you that by practicing
all the problems in this material thoroughly will definitely make the students to
score more than 90 percentage of marks in Mathematics in the Public Examination.
I am in a position to express my hearty gratitude to our respected CEO Madam and
DEO Sir for having encouraged my serious attempt to prepare this material for

the welfare of the students. Constructive criticisms and valuable suggestions are

always welcome.

A. SIVAMOORTHY,
Government High School,
Perumbakkam,

Villupuram District.
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x 2 4 6 7 21’
.. Caemeuwnest swesiLn@® Y = 5
I11. yereflser:

(2,1),(4,2),(6,3),(8,4),(10,5)
IV. Sirey:

suenTLL SHeNBhg X = 9 erefled, y = 4.5 X O

euenTUL S5FedmHg ¥ = 7.5, eteled x = 15

Y
10—

SieTaiSgIL1d
X-2i5860 — 1 Q&5 — 1 sievg
V-215860 — 1 Q&5 — | Sie0@

YI

1

I [ | [
T4 O 2 |G |

8. @m Qzmyew mMriug Csmeauwrsr Gerusefar aevranfllsmayn mea ahHiSHs GCsrerEpL
Crruww Ueta@mbd L LaiememTuiled QarssiuL(Hererg.

Gruseafler rentenflsens (x)

2

3

6

9

| 15515 QameTend Crywb (V) Blfl_risefled

45

30

15

10

(Bl.orj)a,rr@u': STOSHEHSS UMTLLLD QUMTHSI,
() 5 @misemer LwaTLHSSleTTed, QST I BlITbU T(HiSSIS QarereriuL. Crrdmass srewrs.
(ii) 9 Pl_risefled QFrL g BlybLilermed, LwaTUHSSUILLL Gruseafler senrenllsmaamus srewnrs.

giray: 1. siLLeuement (QsrHssLILL (HeTerg))

Gpruisefe stesvtensigens | 2 | 3 | 6 | 9
(x)

s1DS&I&0lsmeTEHL Crrw | 45 | 30 | 15 | 10
(v) BIO_EisaTed

II. wrmur:
L L euemestulledmpng ‘X’ ifsfles )’

GDENF) 6168 BTD SHTERTECHID. 2 5Cal, Bs)

erSlommILIT() ) @LW. ie.xy=k

xp=2%x45=3x30=....=9 x 10 =90 (k)

.. Caemeuwnent gwesiun(p xy = 90

I11. yerefiseir: (2, 45), (3, 30), (6, 15), (9, 10)

IV. Sirey:

euemTUL SHedmHE x =5 = 5xy=90

y=20 18

eiesiCeu  (FLomisenens Olanewi(n O iqemul
Bliriin e1(h$g16 Clametenid sreowd 18 Blbl_miser.

euemTUL SHeNBHE V=9 = x*x9=90 = x =

=10
9 Bil_migefled QM iqenw BlrLiug

90

CaemeuliL(pIb @ruisehes stesvensnsensg 10.

i 07 T
44—
Scale
42— x-axis — 1 cm — 1 units
40 y-axis — 1 cm — 2 units
38—
36—
34 —
23
36—
28 —
e TE
-9
@ 24—
=
15 i
2601
18— =-—rm e e
i
16— 1
1
14— i
1
12| i
1
10— i
--------------------- EEmmm e B
8 — ' !
1 1
6 : :
1 1
4| i i
1 1
2 : :
1 i
I D) T f T T T ] T T
Dt i 2 I T e e {0 i B G
Y Spmui

Kindly send me your questions and answerkeys to us : Padasalai.Net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net www.TrbTnpsc.com

10 Spib QuGLIL - Hewflgd [12]

9. @ uaraflurerg), GHIULILL feo CUILI45EH5E, ufles Csranauilener eredeor LEIGCHDHLITETTSEHEHEGLW
Uereu@porm swiwors Ufl5s euprigagrs aq;ﬂ]aﬂ&aﬂgpg]

umIGspumrerirseafler erewrenflsems (X) 4 6 8 10

@aiCeurg urnGspurerflear Ogrens T () 180 90 60 45 36

(i) el&lz&w wrfledlenws srevwrs.

(ii) Coparayd Fra|HEPSHE@ aTULL aemThgl, 12 uEGspureriser LECSHHSSS ClsTewT_Ted
alteur@p LEGsHurer@BL QUMb Ufleg CFTens alame] TaTLMSS HTETRTS.

giray: 1. oL Leuenent (QarHssLuL(HeTterg))

190 t SleTeySHLL1b
N I'!;J(EGS'H_:)U menigefmest 2 4 6 8 10 180 ;jﬁ: } g:ii :oéN :S@m
Grso'b'Tszm‘ﬂe'smas (x) 170
@Q}QQJ[[@ urﬂ@a’,ﬁ)un 1801 90 | 60 | 45 | 36 160
erflesr QOgnems < (1) 5]

IL wrmur®: 9L eusnesstulledlmhg x° yahlss )’
SODEDG| 61681 BILD SHesETHGMLD.
25Geu, @& erHmomLIT® Sy @Lbd.

eaitaurm urGapurstiler Qgrams

i.e. xy =k @mi@ k eretiugy) eldlgan wmdledwum@ib. 100
xy=2x180=4x90=....=10 % 36 =360 (k) e

. Gaemeuwnest Fwettun@® xy = 360 jz:
II1. yereflsar: o
(2, 180), (4, 90), (6, 60), (8, 45), (10, 36) 50

IV. Siray: i. elflgew wmed £ =xy =2 x 180 =360 =
ii. euenruLSHeSlmHHg X = 12 etetled x)y = 360 :g:

360

:>l2y=360:>y=3=30 10

)

B60hg)| OlameTEnLd eeibleum el Clumb Glgrens I 30 Xt s by et ol wX

uEiGaphurerirsefler erevwremilsms

10. Cupbg Blemeowid SiHCs 2_eTer B F&&T aunsaTd BIMISSISL_SF6d QUPLLGL SLULewrd CFTens

Uesreu(miomm:
Crid (wewfluiled) (x) 4 8 12 24
sLLewrg Qgrens X (1) 60 120 180 360

QuPLILBIL S LS Cgrenswrerg aurseard BnSsuubL Crrsdlne Crir rmUTL g6 2 atergT
3|6060F)] T LOTMILIML_Iq.60 2_6TETSIT 6TAT Y TMUIS. QST(HSSLILILL ST Hm6T uTULSS60 GnlSsaayL.
Gued, () BimiSstOw Crrw 6 wenfl arafled, sLLamrs0sTansmwus srewts. (ii) T150 » sLLwrs
Qgrenswrsé FNSH QmbSTed, KnSsLLLL CrrsJler oeTenaud: Hrewrs.

giray: 1. gL L auement (Qsr®ssLILL (HeTers)) i !  smwpis Si
(gll.-r)u.u') (m“ﬁ]uﬁ]d}) (x) 4 8 12 24 Laod :v»jséls\‘)—las:xﬁ—i()g;s\l?@mﬁ o
sLLew$ Glgrens X (v) | 60 | 120 | 180 | 360 £
IL. wrur®: oL LsuenesntulledBBg X’ oifshss i
Voyw yHsfsSng e mrd  srewidGpmib. o
25Gal, g Crirormun® oL@Lw. 2401
v = kx, @mi@ k eres1118) €NEBEW IlSWINEGLD. P
120 18 200
k:X:%:?:....—?’z—O—IS(k) §.180—
x
.. Caemeuwinest swesiun(@ y = 15x i
II1. yereflsat: (4, 60), (8, 120), (12, 180), (24, 360) izz:
IV. Siray: cuenruL_SHeS®HHgI, X = 6 eTerled Ly |
y=15x6=090. Qess Ceuewiqu Qgmems I 90. so0-
euemTUL SHedmng ¥ = 150 etefled x = @ 10 jz:
SIBMeUG] GUTSHEILD BIMISSHLILIL &@mﬁ&@m SM60 20- | !
; : X
|66y = 10 wewh X 2 4 6 8 10 L2 14 16 18 20 2 2 2

Y’ STeold
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6ILD6DED HHSLD LDTERTRUTEHEHSSTE mECILIB

=2

1. LMOYSGHID SiTiiLISGmLD

2 B WICLIGHISH 6T

1.

AxB=1{@3,2),3,4),(5,2), (5, 4)} ererfled
A wpmb B-gy srewis. (e&11.20 ) (@y5.22 )
Siey:
AxB={@3,2),3,4),(5,2),(5,4)}
A=1{4 x B -Wer pged o wsblgneneoe,
2 miLiLsefest sewtid }. etevrGeu A = {3, 5}

B = {4 x B -ulles1 @rewiLnd o wiS5blgneneve,
2_miliysefest sewid | . etesiGeu B = {2, 4}

A={3,5) wpmib B = {2, 4}

Hereumeucreunnfling 4 X B, A X A wpHmb

B x A g5 srewis.

i) A={2, -2, 3} wdmd B = {1, —4}

iyA=B=1{p,q} ii)A={mn};B=0

girey:
AXB =1{2,-2,3} x {1,-4}
= {(2’ 1)9 (29 _4): (_2v 1)7 (_29 ‘4)3
G, D, 34)}
AxA =1{2,-2,3} x {2,-2,3}
= {(2a 2)a(25 72)5(27 3)7(725 2)3(72a 72)&
(_23 3)5(37 2)9(39 _2)9 (3a 3)}
BxA4 ={1,-4} x{2,-2,3}
= {(1’ 2)9 (1: _2)7 (19 3): (_4, 2)a
(-4, -2), (4. 3)}
A=B =ip,q}
AxB = ip,q} X P, q;
= . p) . 9 (4, p) (4.9)}
AxA4 = ip.q} *p.q;
= . p) v, 9 (4, 2)Aq.9);
BxA4 = ip.q} P, q;

= {@.p) 0,9, (4, P), (.9}

iii) A={m,n},B=0

AXB = {mm) < {}={}
AxA = {(m,m)} * {m,n)

= {(m, m), (m, ), (, m), (n, m)}
BxA = {}x{mn}=1{}

A=1{1, 2,3} vombd B = {x | x etewrugl 10 -go
afl_é& Al usr erewt} eTafled, 4 X B wHmjbd
B x A gyflwaihenns smevwrs.
giey:

A=1{1,2,3}, B=1{2,3,5,7}
AxB=1{123) x {2,357

= {(1,2), (1, 3), (L, 5),(1,7),(2,2),
(2,3),(2,5),(2,7),3,2),(3,3),
(3,5), (3,1}
BxA= 123,57 x{1,2,3}
= {2, 1),(2,2),(2,3),3,1),(3,2),
(3’ 3)7 (5’ 1)’ (59 2)’ (5’ 3)9 (7’ 1),
(7,2),(7,3)}

B x A ={(-2,3), (=2, 4), (0, 3), (0, 4), (3, 3),

3, 4)} erefled, 4 wHMIS B YHweuHenms

STERTS.

A = {B x A-ullesr @revvrL_meug
SHWSCFTENeV6| 2 MILIL|S6flesT SHevoTid

eteorGeu, 4 = {3, 4}

B = {Bx4-ulevt (1pg60 g5 Clgneneve
2_mLIL|Sellest SHewwrid |

etei@eu, B = {-2, 0, 3}

steiGeu, A = (3,4}, B= {-2, 0,3

L Seled S L L Beirer (LL1b) SIBLEEH
uLonerg P womis O S6wTESEHSSTeT
2_peneus GHlsHarngl. D565 2 nemeal

p Q

(i) sewr sL_LewLIL (penm

(ii) uLigwed wenmaefled eT(psIs.

(iii) R-er UL WHMID aIFFH5mBEH
STE0TS.

R uilevt S6w01 HL_L_60LOLIL (LPEDM
=iy |y=x-2,xeP,yeQj

R ullest L 1qu160 (Lpewm
=1(5,3),(6,4),(7,5)}

R Wllest wdliiusid = {5, 6, 7} wHmID
R Wevt ef&ga1bd = {3, 4, 5}

X=1{1,2,3,4}, Y =1{2,4, 6,8, 10} wpmb
R ={1,2), 2,9, (3, 6), (4, 8)} ererfled, R
SOTG R FTTY eTerd ST_(hs. GCueyd
SIS@T LIIILSD, Flenewr LIILILSLD LHMILD
alfes5m36 SrewTs.

X R Y
2

l;‘
’8
10
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UL GFled R @mlsaLiLiL(heTeng.

eeubleun(h x € X-&@ 1, 6T e v € Y2 miuiy
LW SlewL_sSmg,.

e16uG6u X~ 63T 676060 2 MILIL|SHEHEHGLD V-60
@G e Hlped 2_(1F 2_aTeng).

61651Geu R- L6818 62(1H FIMTL| h(GLD.
wdliusw X = {1, 2, 3,4}

glemevet s Y= {2,4,6,8, 10}
ef&sabd =12, 4, 6, 8}

7. A4={1,2,3,4,..., 45} wHpmid R eTestm 2_mey
“A-wler 1831, e erewTenfledt QufSHLD" eTewr
QuEHTWMIHSILLLTed R -g5 AxA-ullest
2 L SenTions e1(pgls. Cuoad R-&smer
wIHILSSHSWLD, TFEESMHSWLD STRTs.
A=1{1,2,3,....,45}

R={(1,1),(2,4),(3,9), (4, 16),(5,25),(6,36)}
R oyevigl (4 x A) ullest 2 L sewid eTevLIg)
QzeMeurdlmg.

wdiusn = {1,2,3,4,5, 6}

Sssan = {1,4,9, 16,25, 36}

8. R erevrm e 2-m&y {(x,y)/y=x+3,xe{0,1,
2,3, 4, 5}} etenrs Qar(ssUuL(heterg e
wllussmsuwb alFess5mIULD semrnls.
x=10,1,2,3,4,5}
fx)=y=x+3
A0) =3 A1) =4 2) =5;
£3)=6:fi4) =T: 15)=8
~R=1{(0,3),(1,4),(2,5),(3,6),(4,7), (5, 8)}
wdliusw = {0, 1, 2, 3, 4, 5}

Ssemb = {(3,4,5,6,7,8)

9. Qem@&suuLlL &miy f : x — x> — 5x +
6, arafled, () fi-1) (i) f12) speueupenp
walif@Hs.

QriE x> x*—5x+6
=S Ax)=x*-5x+6

i) A=) =(1yY-5-1)+6

= 1+5+6
=12

ii) f2) = (2 -5(22)+6

=4-10+6
=0

10. f etevrm &mijy fix) = 3 — 2x eTawr euMTWMISHSLI
u@&ng1. f(x?) = (fix))* ereufled x @& sHrewrs.
fix)=3-2x
Qar®&suL (Haterg) fx*) = [f(x)]?

3-2x% = [3-2x]?
= 3-2x% = 9+4x2—12x
3-2x2-9-4x*+12x =0
= 6x*+12x—-6 = 0+-6
X-2x+1=0
x-1DExE-1H=0=x=1,1

1. A={1,2,3,4} wpmud B = N erers.
Guepid /: 4 — B gyemsi fx) = x° eteor
aueTuniSEsILHEIDG erefled, (i) f-uller
alfess5mazs srents. (i) f aalams ey
CTEOTE SHTETTS.

A={1,2,3,4,,B=N
fiA— B, flx)=x°
A=Y =1 A2)=@2)=8;
fB3)=0B) =27, fi4)=4) =064
i) eSesab={1,8,27, 64}
ii) ef&FgaLb # glemewwt L ILISLD 6TERTLISTED
831 @@ 2-61 &1L GD.
5 wFIeLIawISHaT

1. A={1,3,5), B={2,3} ereslled
(i) 4% Buwpmw B x 4 - srewrs.
(ii) 4 x B =B x A gy@wr? Bedeneolesfled

eTeuT?
(iiii) (4 x B) = n(B x A) = n(A) x n(B) erewss
s ([H\s.
gijey:

QanssLiu’ (pererg: 4 = {1, 3,5}, B= {2, 3}
i) AxB={1,3,5} x{2x3)
=1{(1,2),(1,3),(3,2),(3,3),(5,2),(5,3)}
(1)
BxA={2x3}x{l,3,5}
={2,1),(2,3),(2,5),3,1),3,3),3,5)}
—©
ii) (1) wmHmibd (2)-6v1 epeoonss A X B# B < A
e0eseriled (1, 2) # (2, 1) wHmiLd
(1,3))#@3, 1)...
iii) 7(4) = 3; n(B) =2
(1) wpmibd (2)-eSlmbel Bmd srewrLg),
nAxB) =n(BxA)=6;
n(A)*xn(B)=3x2=6
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25Ceu, n(4 x B)= n(B x A)
= n(4) x n(B)

2. A={xeN|1<x<4},B={xecW|0<x<2}
wpmid C = {xe N | x < 3} ereurs.
(i) AxBUO)=A*xB)U(Ax*C()
(i) A x (BN C)=(4x B)n (4 x C)
aTeTLeTaUDDE SFFlLITTSHS.
gier:
A={xeN|1<x<4}=1{2, 3},
B={xeW|0<x<2}={0,1},
C={xeN|x<3}={1,2}
i) Ax(BUC=AxB)udxC)
BuC ={0,1} U {1,2} ={0,1,2}
Ax(BuUC) ={2,3} x{0,1,2}
=1{(2,0),(2,1),(2,2),3,0),3, 1), 3, 2);

(1)

AxB = {2,3} x{0, 1}
=(2,0),(2,1),(3,0), 3, 1)}

AxC =1{2,3} x{1,2}

={2,1,2,2),3,1),3,2)}
(AXB)u (4AxC)={(2,0),(2,1),(3,0),(3,1) }u
{(2.,1),(2,2), 3, 1), 3,2)}
=1{(2,0),(2,1),(2,2),(3,0), (3, 1),(3,2)}
— @)
(1)=@)
LAX(BUC)=(A4xB)u (4 xC) etetiuig
FunfssiuL L g).

i) AX(BNCO)=AxB)nAx*x0)
BN C={0,1} n{l,2} = {1}
Ax(BnNC)=1{2,3} x{1}
={2, 1,3, 1)} - (1)
AxB={2,3} x {0, 1}
=1{(2,0),(2,1),(3,0), 3, D}
AxC=1{2,3} x{l1,2}
=12, 1),(2,2), 3, 1),3,2)}
(AxB) N (4xC) = {(2,0), (2, 1),(3,0), (3, DN
(@2 1),(2,2),3,1),6,2)}
DG Q)
(=)
JAXBNO)=AXB)Nn(AxC)
eTevTLIg) SRUMTSSLILL L g).

3. A=1{56},B=1{4,5,6},C=15,6, 7}, erefled
AxA=(BxB)n(CxC) etenns sr_(Hhs.

siyey:
A=1{5,61,B=1{4,56),C=1{5,6,7)
LHS:
AxA = {56} x {5 6}
= {(53 5)’ (59 6)) (6’ 5)9 (69 6)} T (1)
RHS: (BXB)n(Cx ()
BxB ={4,5,6} x{4,5,6}
{4, 4, 4, 5), (4, 6), (5, 4), (5, 5),
(5, 6), (6, 4), (6,5), (6, 6)}
{5,6,7} x{5,6,7}
{(5’ 5)9 (5’ 6)’ (55 7)’ (6’ 5)5 (6’ 6)9
(6,7),(7,5),(7,6),(7, 1)}
SL(BXB)N (CxC)={(5,5),(5,6),(6,5), (6,6)}
- (2)

CxC =

- (1) b (2) eSmHg LHS = RHS.

4. A={1,2,3}, B =1{2,3, 5}, C = {3, 4} wpmid
D=1{1,3,5} etefled (4 N C) x (B N D) =
(4 x B) N (C x D) eTatLig)] 2 6RTenLOWT 6T6ur
Gengdlssayb.
Bijey:
AnC={1,2,3} n{3,4}
AnC={3}
BnD=1{2,3,5} n{1,3,5}
BnD={3,5}
AN C)x(BND) ={3} x{3,5}
={3,3).6,%} (@)
AxB = {1,2,3} x{2,3,5}
{(1,2), (1, 3), (1,5), (2, 2), (2, 3),
(2,5),(3,2),(3,3),3,5)}
CxD = {3,4} x {1,3,5}
= {3, 1),3,3),(3,5),(4,1),(4,3),(4,5)}
AxB)n(CxD)={3,3),3,5} (2
(1) oHmibd (2) swibd.
AN C)yx(BND)=A*xB)n(CxD)

eTeuTLIG FRLMTSSLILIL L g).

5. A={xeW|x<2},B={xeN|1<x <4}
womw C = {3, 5} aafled, SCp CarH S
UL (heTer gwerUT(Hisemers sflUnyss.

(i) AxBUO=A*xB)uAxC()

(i) Ax (B C)= (4% B) (4% C) (ashiz1)
(iii) (4 UB) x C= (4 x C) U (B % C)

giey:

A={xeW/x<2}=4=1{0,1}
B={xeN/1<x<4}

= B=1{2,3,4};C=1{3,5)
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i) AxBuUuO)=AxB)uxC().
BuC=1{2,3,4, u{3,5}
BuC=1{2,3,4,5}

AXx(BuO)={0,1} x{2,3,4,5}
= {(0,2),(0,3),(0,4),(0,5), (1, 2),
(1’3)5(174)’(175)} T (1)
AxB={0,1} x {2,3,4}
={(0,2),(0,3),(0,4),(1,2),(1,3),(1,4);
AxC={0,1} x {3,5}
= {(0,3), (0,5), (1, 3), (1, 5)}
LA@AxB)yu(xC)=1{(0,2),(0,3),(0,4),
(0,5),(1,2),(1,3),
(1’ 4)’ (1’ 5)} T (2)

(1) =(2) eted1gy EfUMTESSLILL L G).

i) AX(BNC)= AXxB)n(AxC)
BAC=1{2,3,4Yn{3,5 = {3}

Ax(BnC)=1{(0,3),(1,3)} - (1)
AxB=1{0,1} x {2,3,4}
=1{(0,2),(0, 3),(0,4), (1,2), (1,3), (1,4}

AxC=1{0,1} x {3,5)
= {(0,3), (0, ), (1,3), (1, 5)}
LUXBY AU C)=1{(0,3),(1,3)} - (2)

S (1) =(2) etev1gy #flunissLLL L g).

iii) (AUB)xC=(AxC)U(Bx ()
AUB =1{0,1} U {2,3,4}
=1{0,1,2,3,4}
2 (AUB)x C=10,1,2,3,4} x {3,5)
=1{(0,3),(0, 5), (1, 3), (1, 5), (2, 3), (2, 5),
(3,3),(3,5),(4,3),(4,5)} - (1)
AxC =101} % {3,5)
={(0, 3), (0, 5), (1, 3), (1, 5)}
BxC =12,3,4} x (3,5}
= {gZ),}3), (2,5),3,3),3,5),(4,3), (4,
LA@xOuBxC0)=1{(0,3),(0,5),(1,3),
(1,5),(2,3),(2,5),
(3,3), (3, 95), (4,3),
(4, 5)} - (2)
. (1)=(2) LHS = RHS

6. A eteiugl 8-z allé @Gewpeurer Guwed
aewiseflar sewrd, B ereiug 8-m efls
GoDeureT LT eTewiseflor sewrd wHMW C
= etaTLg DU enLLiLenL LST eTewTserler
sewTid eTeulle0, SpaenTcunenné Fflumiss.
) ANB)xC=(Ax O (B*C)
(if) AX(B ~C) = (4xB) — (4xC)

diey:
A=1{1,2,3,4,5,6,7)
B=1{2,3,5,7) C={2}
HlemL158 Gouewsrig.wig:
) UNnB)xC=A*xC)n(Bx*xC)
ANB = {1,2,3,4,5,6,7) N (2,3, 5,7}
= 2,3,5,7)
(ANB)x C=1{2,3,5,7} x {2}
C(AAB) X C=1{22),(3,2), 5, 2), (7,2}

— (1)
AxC =1{1,2,3,4,5,6, 7 x {2}
={(1,2),(2,2),(3,2), 4, 2), (5, 2),
(6,2),(7,2);
BxC =1{2,3,57) x {2}
={(2,2),(3,2),(5,2),(7,2)}
(A% C)A(BxC)
= {(25 2)9 (3’ 2)5 (5’ 2)’ (75 2)} T (2)

- (1) whmib (2) eS\wba1, LHS = RHS.

ii) AxB-0)=Ax*xB)-(4x0C)
B-C=1{2,3,57— {2} ={3,5,7}
Ax(B-C)=1{1,2,3,4,5,6,7}%{3,5, 7}

={(1,3),(1,5),(1,7),(2,3),(2,9),
(2,7),(3,3),3,5),3,7), (4, 3),
(4,5),(4,7), (5, 3),(5,5), (5,7),
(6, 3), (6,5),(6,7),(7,3),(7,5),
(7, D} - (1)
AxB=1{1,2,3,4,567 x{2,3,5, 7}
= {(12), (1,3), (1,5), (1,7), (252), (2,3),
(2,5), (2,7), (352), (3,3), (3,5), (3,7),
(42), (4.3), (4.5), (4,7), (52), (5.3),
(5,5), (5,7), (622), (6,3), (6,5),(6,7),
(32), (7,3), (7,5), (7,7)}
AxC=1{1,2,3,4,5,6, 7 x{2}
= {2, (Z2), (322), (42), (572), (652),
(32)}
(AxB)—(4xC)
={(1,3), (1,5), (1,7), (2,3), (2,5), (2,7), (3,3),
(3,5), (3,7), (4.3), (4,5), (4,7), (5,3), (5,5),
(5,7), (6,3), (6,5), (6,7), (7,3), (7,5), (7,2})
(H=(2)
ZAX(B-C)=(AxB)—(4xC)

eTeuTLIG FRLMTSSLILIL L g).

7. A={3,4,7,8} womb B = {1,7, 10} eresfled &Hip
2 ater SewrEIZefled eTemeu A eSlBHSH B-5d
ST 2_meneus; GnlSHaTng)?

A. SIVAMOORTHY, BT. Asst. GHS, Perumpakkam, Villupuram Dt.

Kindly send me your questions and answerkeys to us : Padasalai.Net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net

17

www.TrbTnpsc.com

6ILD6DED HHSLD LDTERTRUTEHEHSSTE mECILIB

i) R, ={3,7),4,7),(7,10), (8, 1)}

(i) R, ={G, 1), (4, 12)}

(iii) R, = {(3, 7), (4, 10), (7, 7), (7, 8), (8, 11),

8,7, (8, 10);
Siey:

AxB=1{3,1),3,7),3,10),(4,1),(4,7),

(4,10), (7, 1),(7,7), (7, 10), (8, 1),
8,7), (8, 10)}

i) R, c4 x B etetiLensg s snemreontd. etesiGe,
R, etes1LIg) 4 -e0\([BBGI B -&6@ L6 2-mey
SO,

ii) @mi@, (4, 12)eR,, syevmed (4, 12) ¢ A x B.
e1e51Geu R, oyev1g) A-ed(mibgl B-6@ peur
2 me| Gedemev.

iii) @i, (7, 8) e R,, oyevmmed (7, 8) ¢ 4 x B.
e1651Geu, R, oy em1g) A-60\(bHHgI B-5@ 60
2 mey Pevemev.

8. 4=141,2,3,7 womw B = {3, 0, -1, 7},
ereumeusreumnmiled steneu A eSl(pi5 B-&a e
2_MeyseTm@L?
® R, ={2, 1,7, D} (i) R,={(-1,1)

(iii) R, = {(2, -1), (7, 7), (1, 3)}

(iV) R4 = {(79 _1)9 (03 3)9 (39 3)5 (Oa 7)}

Siey:
A=1{1,2,3,7} wpmibd B={3,0,-1,7}
DAXB ={1,2,3,7} x {3,0,-1, 7}
=1{(1,3), (1, 0), (1, =1), (1, 7), (2, 3),
(2’ O)a (27 _1)5 (2’ 7)9 (3’ 3)9 (37 O),
(33 _1)3 (39 7)9 (79 3)5 (73 O)a (77 _1)9
(7, 7)}

i) Rl = {(25 1)’ (73 1)}a (2’ 1) ERI
opeummed (2, 1) g A x B
~ R, (m 2-mey I606v.

ii) R2 = {(_13 1)}5 (_19 1) ERZ
opeorned (—1, 1) g A X B
~ R, @@ 2-mey j6060.

iii) R3 = {(2’ _1), (77 7)’ (1’ 3)}3 R3 gA X B
Ry @@ 2-pey.

iv) R, = {(7,-1), (0, 3), (3, 3), (0, 7)},

(0, 3),(0,7)eR, etev1L181 A X B 60 2_mLiL}
3|6V6V.
"R, e 2-mey 606v.

9. QSMESSLLLL 2 paset @aiGaITaTapLD
(1) oysEGM LLLb (2) euenruLLd
(3) uLliqgwed (enmuiled GHnfléa.

(@) {C,p) [x=2y,x€e{2,3,4,5},y € {1,2,3,4}
(i) {(, ») [y = x + 3, x, y QFluemes Quied
eTesrser < 10}
Siey:
() {(x,y)|x=2y,xe{2,3,4,5},ye {1,2,3,4}
x=2y
M) =35 f) =3 =1 f3) =3

A =2=25-2

1. ouysEGM uLLb 2. euemrLULLd
A
4
X TR Y 3]
- 2 +(4,2)
’ Hooe@
1 I 1 =
1 2 3 4

3. aflene Comg
{2,1),4,2)}

(ii) {(x,p) |y =x+3,x,y spflweneu Bwied eTewrs 6T
<10}
fx)=x+3;
=4 fi2)=5; f38)=6; fiH)=T,
A(5) =8 f(6)=9

1. Suwys@G L Lb: 2.uemrLL_Lb:

O *(6,9)
| 5,8
xR~y 8 . %)
1 1 7 *(4,6)
2 2 6 «(3,6)
3 3 5 .(275)
4 o S IR
5 5
6 6 3
7 7 ey
8 '8 15
T T 1 >
J J 01 2 3 4 5 &

3. auflens Gamg:
{(1,4),(2,5),3,6),4,7), (5, 8), (6,9)}
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10. e mBmeersgled 2 sellwrerjsear (4),

LA ={1,2,3, 4} vpms B = {2, 5, 8, 11, 14}

aupdziaer (C), Gueorerjser (M) wHmd
Blieundlser (F) opflw mrerg Uifleysefled
uesflurerjser 2 eterery. A, C, M wHmd
E Jfley uvesflurerjsens@ eadlumiser
weopGu I 10,000, I 25,000, T 50,000
womw I 1,00,000 sy@w. 4, 4,, 4;, A,
womw A, HHACury o gefllurerjser C,,
C,, C,, C, F0uny erwpsziser M,, M,,
M, <oACuriser GueomeriseT  LOHMILD
E,, E, o#Cury mljeundlser speuf. xRy
aerm 2. mailed X eTATUS y TATUAIHSESHS
Qar@&suuLrL. eafluw eefled R-6rerm
2 pemal, aflmss Gsmgser eYeLTSHOD
SbLSEGM UL eevwrsa|d GBILLIHs.
giey:

a) euflens Gamg:

{ (10000, 4,), (10000, 4,), (10000, 4,),
(10000, 4,), (10000, 4,) (25000, C,),
(25000, C,), (25000, Cy), (25000, C,),
(50000, M,), (50000, M,), (50000, M,)
(100000, E,), (100000, E,) }

b) sSUSGM) LLLb:

ZFP)<

—_

O 000
AW

22 %

w

leslies
o=

eTeTLeT @ SHewTEIS6T 6Teis. f 1 A — B eTgpd
griL f{x) =3x— 1 ereors Qar(HsasLIuL(heTers.
@serileners Clameswt(H
(i) SWwysSSGM uLLd

(ii) L L_cuemevor

(iii) uflenss Gamqsafler sevwrid

(iv) suemruL1d gFlweunenms Gnilss.

gio:

A=1{1,2,3,4},B=1{2,5,8,11, 14}
fix)=3x-1
SAH=3(1)-1=3-1=2;
fi2)=32)-1=6-1=5£3)=33)-1

=9-1=8§;

fA=34)-1=12-1=11

gmiy R = {(1, 2), (2, 5), (3, 8), (4, 11)}
i. QWUSSM LLLb:

x
L
2 5
3 > 8
4 > 11

14

ii. QL L_euemevr:

iii. auflens Gamg:
{(1,2),(2,5),(3,8), 4, 1)}

IV. euemrLIL_LD:
A
12

10—

12. f: N — N etetp smijuresg) f (x) = 3x + 2,

X € N ete0r auemuUMISSLILILLTe0

(i) 1, 2, 3-uflest Bliped 2_(HEZMETS SHTEwTS.

(i) 29 wHmID 53 -ullesT (e 2 (HESMmeTS
STEoTS.

(ii) errilesr euemsmws SrewTs.

f: N — N etetip anijunengy) f(x) = 3x + 2 etewr

auenrunISsLILL (h6Teng).

x=1eefeo, f(1)=3(1)+2=5

x=2 etetle0, (2)=3(2) +2=38

x =3 eterllov, (3)=3(3)+2=11

1,2, 3 -uflevt Sliped 2 (m&sei (pewmGuwi S5, 8, 11

SSLD.
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9] 6ILD6DED HHSLD LDTERTRUTEHEHSSTE mECILIB
LY ]
ii) 29-uflevt (pevt 2 x e16¥l60, fx) = 29. ere81CGeu | 14. f: 4 — B ettty FTLITGTS
3x+2=29;3x=27=x=0. _X .
. . i _ Jx) == — 1 etewr suemmumiSSLILGS DI
Beng1GLTeGeu, 53-68T (L6t 2_(1h X 6T6rTleV, 2
1) = 53. eremGeu, 3x +2 = 53 i, A=1{2,4,6,10,12}, B=1{0,1,2,4,5,9}.
3¥=53-2=3x=51=x=17 25 BGHELGUrg sy f-g Uatagn
wermaafled Gnlés.
i) euflengs Camgsaflar sewrd
ii) QL L euenever
iii) QUSEGM LLLb
iv) euenruL_1D

eteurGeu, 29 MHMID 53 -ullewt (Lp6vT 2 (HSS6i
peomGui 9 wHmd 17 oy @Lb.

iii) NV -ullesr QeueiGoumi 2 mLILBEHSHES SienevwT
wHILSESHed OGeuaiGoum Hlped 2 (HSS6i

2 _6ITET6UT.

giyey:
5o f US| QRETMISE) QEITDNET SMTLINEGLD. X
Jfx)=%-1

S -ullest gremeser wliLigomesig) N. 2

efggad f= {5,8, 11, 14, 17, ....} sypevg x=2=f2)=1-1=0
N-611 (8 2 L_&6wTIDm@)Ld. x=4=f4)=2-1=1
e1651Ge, f g6zl CoedaniyL| Bevenev. x=6=£f6)=3-1=2
SIBTeuZ, [ 2 L &L ShGSLD. x=10=A10)=5—-1=4
stenGeu, [ LeMEI RETMISHES QETTDNES HDILD x=12=/12)=6-1=5

LI_&WLI%@LD ____________________________________ i) euflmes Camgseafler sewrio:

13. f={1,2), (2, 2), (3, 2), 4, 3), (5, 4)} erextm /=12,0), (4, 1),(6,2), (10, 4), (12, 5)}
griilener (i) QdUSEGSM) LILLb

(ii) oJL_L_euemever (iii) euenTLLLD eeVLDTSHE 1) Si-Leuemewr:

S Esa, x [ 2]4]6]10]12
- folol 1] 2]4]s
i SIBLHEH LLb: iii) oSG LILLb:

NS

2 p-1

3 >

4 3

5 4

iv) euemuL_Lb:

ii. S L_cuemewor: A

X 1 2 3 4 5 6
fx)| 2 2 2 3 4 5 «(12,5)
. 4 (10, 4)
1il. eueMFLIL_LD:
A 37 6
6_ 2— '( 5 )
1+ o(4,1)
oy 2’?) N R S
4] .(5’4) 2 4 6 8 10 12
3 *(4,3)
ol . 2,2) * %k Kk
(1,2) 3,2
1_
0 1 | >
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2. GIGBISEHID OGLITeUTENE5GHLD

2 1DFILIEHIHET

1. a’ x b* =800 eresrmeurm jewwowjd Hm Wens

P(p&s6T a HMIL b gy sTewrs.

Siey:

800 = a® x b°

800 =2x2x2x2x2x5x5=2x%x52
~a=2,b=5(e06081) a=5,b=2

2. 252525 wpmib 363636 ereirm srewraeafleur

(S \S I \S I \S I (S ) \S)

15.Qur.6u SrevwTs.

W 3 W W W NN

1
37

363636

181818

90909

30303

10101

3367

37
1

| 800
400
[200°
100
[50
25—
5

481

252525
50505
10101
3367
481

37

1

252525 =3 x 5% x7x 13 x 37
363636 =23 x 33 x 7 x 13 x 37

252525 wpmid 363636 Gevr 15.Clum.u

=3 x7x13x37

3. 13824 =2 x 3" ereufled, a opmd b-uflewr iy

STEoTS,
Siey:

= 13824 =

[SSIRVSTE (S I \S I (O I (S I S I (O R S B S R )

29 x 33

sa=9,b=3

13824
6912
3456
1728
864
432
216
108
54

27

=)

W

g LILIenL eTewvTevuflied CznmsmzLi
uweruBSs) 408 wihmib 170 eresrm erewwraerfleur
15.0um.1o LHMID 15.CLIT.eu SHTewTs.

2

4082|170
2[204 5|85
2[102 17
351
i
408 =23 x 3 x 17
170 =2 x5 x 17

408, 170 @ev1 15.Qlumeu =2 x 17 =34
408, 170 @evr 15.8.10= 23 x 3 x 5 x 17
= 2040

om Osr_jaflosuler Curg 2.muy
Uereumonrm suenyumissiuGElng.

{n(n +3);
a,=

n’+1;

ne N it e eTewt

ne N e @ enL erewt
11-eug) 2-mjy wHmd 18-eug) 2 ML srewTs.
n=11 e16¥1LIZ| RMHEND 6TEWT ETETLIGN6EV, 1|, SevT
iy srever n = 11 616wt

a,=n(n+3) ulled ArduiL_,

l1-eugi e miiiy a,, =11 (11 +3) =154

n =18 e1681L1g) QL enL_LILIenL 6T6w5T
STETLISN6Y, ¢ B6vT S| Sevet

n=18 etewr a,= n* + 1 uled ArHui_

18 eugl 2 mitiy a, = 182 +1=325

Spss et g jaflenssereeaitlarsarlew
n-eugl MmUY Csrssuur(Herergl. iFled
GOLLl_Heter 2 mILILSmeTs: STewTs.

n
) a,= " a; wppid a,

(i) @, = —(n* — 4); a, LOOID a,,

giey:
S5n
i. a =
" n+2
6 8 4’ 13 15

ii. a,=—(n*—4)
a,=— (16— 4)=—12
a, =—(121 - 4) =117
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6ILD6DED HHSLD LDTERTRUTEHEHSSTE mECILIB

2
“ 1, of @r_eeaewt necN
~ _ | n+3
. oa,= )
LN D 60D 6TEwsT neN
i1 PP
eeTugl n-eugl 2-mi eresfled, a, LHMID @,
STERTS,
Siiey: o
n @rLenL e16vled ag Gevt mﬁuq
64-1 _ 63 +3
ag=——
111 )
n @Denm eTeled a, s Bevt LI il

(15 225
M7 3041 31

8. -11, -15, -19, .. eaim &al (NG OSTLI
aflesuilar 19-a1g 2 miLienus srewis.
ia:
Ll (DS L6t n-6ug) 2 miLiL
t, =a+(n-1)d
a =-11;d=-15+11=-4;n=19
tg=—11+18(—4)
=-11-72
to=-83

9. 16,11,6,1,...cresrm S0l (hS QsT_Feuflenguiled
—54 eS| ETSSENETWITEUS] 2 MILIL|?
Sirey:

n:[l—a)+l
d

a=16; d=11-16=-5; I=-54

i L L

10.9, 15, 21, 27, ..., 183 ereip &Sal (S
anLﬁmlﬂmGuﬂsﬁr B0 2-MILIL|SENETS SHTERTS.

9,
it
\02

,d ,l—183
_183-9
6

o 15 peugl 2 mitigw 16 gyeug 2 mitilw kb
2_MmIUL&eTm&Lb.
t,=a+mn-1)d

Stis=a+14d L6

=9+ 14(6)
=9+84
=93

a=

8 174

1—?+1 29+1=30

=q+ 15d
=9+ 15(6)
=9+90
=99

.93, 99 eresiLien @ &8aL (DG ClGmiy
auflenaullest B 2 ML ILSeTTSLD.

11. 3+ k, 18 — k, 5k + 1 srsfruenat @@ sal -0\
Qar_ieuflenguiled 2 ereresr eresfled, £k uflewr
SIS SrewTs.
3+k 18—k, 5k+ 1 etesieneu
R FaL_(D5 OFT_Teuflens

t,—t =t,—t,
(18— k)~ (3+k) = (5k+1)— (18— k)
15-2k = 6k—17
—2k—6k =-17-15
8k = -32
k=4

12. e Heflor grEiflar wsed aflmsulled 20
Dmemssepnd OGwrszw 30 aflomssepn
2_efemeur. O550HS5S aibleunm
aflosulin 950E Wwhmsw aflmsamuai
Qrewi(y) DmEMmEsAT Fa(HDFHEOTS 2_6TETERT.
a8l aflmeulled assmer Qmsmsser
BDmeEWw?

gier:
360 2 My a =20
Glung) elgHwnegd d =2
. &enL_8& euflengulled 2_een R (moHena:saert
sresvienidens ¢ =a+ (n—1)d
tyy=a+29d
=20+ 29(2)
=20+58="78

13. pzed 2-mitiy 20 gysab Curg eflgSursw 8
SFa|b Csren saL_(hS CsT_Tauflensenw
TRSQYLD.

W36e0 2 miLiL a = 20; Glung) elgSlwngw d = 8
Ll (D& CFTiTeuflengullesr Clung) euigeuld

a, atd, a+3d, ...

Bis Hlepaled Brb Clumieug

20, 20+8, 20+2(8), 20+3(8), ...

c1eeiGeu, Caemeuwines anl” (HG OFT_Teuflens
20, 28, 36, 44, ...

14. 3,6,9, 12, ..., 111 aretrp snL'- B
Qgr_jeuflensuiled 2_arer 2 miLiseflest
CTEUUT G GHENHENILIS SHTEwTS.
(P60 2 iy a =3,
Clung) ellgHwnsd d =6 -3 =3
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B

senL & 2 miiy /=111
/-
n= (Taij 1 etevt BILD HMCeounid.

pe (L 3), 23

eTeiGeu, Qbss dnl (DS ClFTL_Teuflenagulled
37 2_mIliLs6iT 2_eierent.

15. £Gp QEr@ésULLQater o  2mIy
wHmd Curg ellfsw 2w QUHBSEGS
Qgr_jeuflesuilar (P56 epaTn 2 il sener
TS5,

() a=6,r=3 (i)a=+2,r=1+2
(iii) @ = 1000, r = %

i. Qumglenqend G.P.= a,ar, ar’, .....
a=6,r=3
G.P. = 6, 6(3), 6(3)°...

=6,18,54, ....

ii. GP. =>a,ar,ar, ......
a=2,r=2 i
G.P.= 2, J2(\2), v2(V2)

=42, 2,242

iii. G.P.=a, ar, ar’,.....

2
a=1000, r=—

2 2\?
G.P. = 1000, lOOOXE, 1000x% g
G.P. = 1000, 400, 160, ....

16. 729, 243, 81,... eretp OQUWBSSHS OSTLIT
aflmsuler 7-agl 2-milienus Srewnts.

CQUmBEES C\SM_{lesT n SLeug 2 ML
t,=ar’

243 1
a=T29,r= =37

1 7-1 1 6
£, =729 x (_j — 729 x [_)

3 3
t=129x L Ll Ll

33 3 3 3 3

17.x + 6, x + 12 wpmid x + 15 etevruer e
QUGS CsrTafleauiler QFr_F&fwimer
eperm 2 miLiLser eTefled, x-ullet wFHLiewLIS
STEWRTS.

X+ 6,x+ 12 woHmibd x + 15 erevtLiest
QR CLMBEGS Car_Teuflens

L _h
C
x+12 _ x+15
x+6 x+12
(x+12)* = (x+6) (x + 15)

X2 +24x+ 144 = x>+ 21x+ 90
24x —-21x = 90— 144

3x = -54

x=—ﬁ=—18

18. Ueteu@md (pyepr Qsrjseflar &n(HFed
STV, 28
D9+3+1+.. ()21+14+ "= +..

Siey: i
i. 9+3+1+....@r§1@a=9,r=?
(- —1<r<l)

19. e® puapr QumEES Osmflar e
2.miuy 8 wHMID PO 2 MILILSET euenIy

Fa (D560 32 qafled Siper Qurg alldlgw
SIS,
Sirey:
G.P. a=38, S, = %
? = S, = 8 _32
1-r -7 3
= 24=32-32r .
=32r=28 =>r= 8 _1
32 4

20. @ CQuBmEGS CQT_Feuflensulled S, = 4095
wHmd r = 4 erafled, JFaT (PS5O 2 MILIHLIS
STEwTS.

Clung) ez =4 > 1,
P30 6 2 miiLsefles sn(hged S, = 4095

eteiGeu, S = M = 4095

r—1
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23
. . a(46_1) n=-37 evevg n =36
r =4, eevTLIZNed — 4095 n#-37 (n#-37 an&5555856060)
=36
= ax 3995 _ 4095 B
. . _3 26. sa(hged sTERTS.

L e @) 2+4+6+....+80

21. @iy srewrs. 1 +2 +3 +...+50 (i) 1+3+5+....+55
giey: giey:

. Fa(HBO SHTEVTS.

. 8a(HB60 srewis. 17+ 22 + ... + 197

1+2+3+...+50
1+2+3+...+n=@ﬂ6ﬁ[[)

&SSrsems LWaTL(HSS

1+3+5+..... to 40 2 muLseaT eueniy
1+3+5+.... + n 2_mILILS6T eueniy
Fn(DG60 = 1’

1 +3+5+.....+40 2 miysem eueni
Sa(D&6d = (40)* = 1640

1P+27+ ... +19°
_a(n+)(2n+1) _ 19%(19+1)(2x19+1)

6 6
sa(Hze0 srewis. 1° + 23+ 33+ ... + 16
..... S
P+ 4384 +16 [16“7}2
2
= [136]2
= 18496
.1+2+3+..+n=666 eresfled, n-ullesr iy
STEoTS,
Siey:
1+2+3+ ... +n =666
n(n+l) — 666
2
n®+n=1332
n’+n—1332=0

(n—36)(n+37)=0

i 2+4+6+.....+80
=2 [1+2+3+..... +40]
-2 {_”(””)} — 40 x 41 = 1640
2
il. 1+3+5+.....+55
85 2 niLiLsefer sremTensemns
O&r(hSsLILLalledensy. BLD
2_mLILs6Mert eTestTenseng:enut 6T68Tm
GSITSmsL LwaTL(HSSS srewTGLmLD.

n= —(552_1) +1=28
st6u1G6L,

1+3+5+....+55=(28)>=784

Hereumd Qgriseflar sa(Hsameos srewrs.
(i 1+2+3+....+60
(i) 3+6+9+....+96
(iii) 1 +4+9+16 +..... + 225
(iv)1+3+5+...+71
giey:
i 14243+ 160 = Mrrl) _ 60x6l
2 2
= 30x 61 =1830
ii. 3+6+9+....+96
=3(1+2+3+...+32)
2
:3{3“33} — 3 x 328 = 1584
2
fii. 1+4+9+16+....+225
=12+22+32+ 42+ ... +15°
_a(n+D)(2n+1) _15(15+1)(2x15+1)
6
_ 15x16X31 _ 1540

iv. 1+3+5+....+71=n°
=1—a+1:>(71—1)+1=36
d 2

1434+5+....+71=36>=1296

n
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28.

1+2+3+...+ k=325, erefled 13 + 23 + 3% +
..... + I Wesr w&liy srevwis.

14243+ +k= k(k;l) — 325
P+22+33+...+k

2

- {k(""“)} — (325) = 105625
23433+ L+ = 44100 eredfled,
1+2+3+....+ k uller iy srewrs.

.
13423433 4+ J0 = 44100 = _k(k”)}

2

1e243+ . 4 k= KEFD o

LB+ 22+ 3+ L erein Qe er&geneu

2 mULsmeTs Fal lgermed Sa(hizged 14400
SenL_&@GLb?
Sirey: 2
PB+2+3+ 4k = {M}
2
= 14400

SN K(k+D) _ 2200 = 120
k(k+1) = 240
2+ k—240 = 0
(k—15)(k+16) = 0
k=+15 60608 k=—16

Ba QunmHSTS.
k=15

5 1DSWICLICHIBHET

P xp, xpt xpt = 113400 @Iﬂ@ Dy
Dy P D, oTesiuen emeuflonsuiled jemwobs
LUST 6TEWIS6T oMM X, X,, X; X, 6TCUrLIGU
@@&561? ereufled P15 P2 P3Py "DDQ"'D X9 Xp9 X3y
x, SpFlweunnfler wHILGmeTS: STewTs.

2 (113400

56700

28350

14175

4725

1575

525

175

35

7

N D W W W W NN

11340 =23 x 34 x 52 x 7!
. P=2, P,=3, P,=5, P,=7

x, =3, x,=4, x,=2, x,= 1

a,=1,a,=1 oMb a, =2a, , +a,,n=3,
n € N, erefled Qgm_jeuflensullear (pzed Ml
2_MILIL|SEN6TE: SHTCUTs.

Siey:

a,=a,=1womd a,=2a, , +a,, e1615.
a;=2a,+ta,=2(1)+1=3
a,=2ay,+ta,=23)+1=7
a;=2a,+ta,=2(7)+3=17
as=2as+ta,=2(17)+7=41

x, 10, y, 24, 7z erwtuemen @M ol (HS
Qzrjeuflengulled 2 eterer ereufled, x, y, 2
Sy Fweuniier L SrewTs.
x, 10, y, 24, z erev1LI60T Gnl (D& CBML_Teuflems
6TEUTLIS 6D ) 6T6TTLIG)
10, 24 @ev1 B 2 MILILINGLD.
oioug y— 10724 34
2 2
AP=x,10,17,24,z
d=17-10 =17 ereviigy) Qi@ Clgefeundlng.
~x=10-7=3
z=24+7=3l1

17

5+55+555+ ... ereirp CFrFeuflensuiler
W36 n 2miuLseflear Fa(HFed srewis.

S, =5+55+555+ ...+ nemliyseT eueny
=5[1+ 11+ 111+ ..... + n 2 miyseT euenr]

5

[9+99 4999 + ...+ n 2 miyser euenr]

9
= 3 (10~ 1)+ (100~ 1)+ (1000~ 1) + ... n
? 2_MILIL|S6T eenT]
= 2 [(10+ 100 + 1000 +...)
? —(1+1+1+...)]
s [10(10" 1)
) 9

I
o0 | D
—_ | O
—~
ot
S
=
|
—_—
N—
|
|
S
I
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5. Jeraumw Ggrijseflar n e muiyser eueny

Fa(HB6O TS,

(i) 0.4 +0.44 + 0.444 +..... n 2 ML S6T CuUEDY
(ii) 3+33+333 +..... n 2 MIUILS6T eueniy
i. 04+044+0.444+ ... n 2_mILIL|&e
= i+ﬂ+ﬂ+...ngguq&3m
10 100 1000
:4[L+£+£+...naguqa&6ﬁ}
10 100 1000
_ 4{9 99 999 . }
= —| —+—+——+..nemysern
9L10 100 1000

— ﬂ (1_i)+(1_ij+(l—ij ne_mi Lsen
9 10 100 1000 )" =RH

4
= —[(1+1+1+... n 2_miliyseT) —
DL

L+£+—111 + ... n2_mjl1 yser
10 100 1000 = EOHH
1 "—
1_ _
)
o|" 10| T
10
4 1 H '
o "9l “l10
ii. 3+33+333+...... n

=3(1+11+111+..... + n 2 miiyser)

= % (9+99+999 + ... + n 2_miiysen)

= 3 ((10-1) + (100-1) + (1000-1) + ....
n 2_mILIL|560T)

|

=3 (104100 + 1000 + ... + n 2_gyutiLysei)
—(1+ 11+ 111 +..... + n 2_miiysei)

b

30 3n
== (1on—-1)- 22
81( n—1) 9

6. 3+6+ 12 + ... + 1536 etesrp QUBSHESHS
Qzrifler saHSH60 STewrs.
3+6+12+....+1536
a=3,r=2

t = 1536
ar' = 1536
32 = 1536

3@ = 30

2n71 — 29
n= 10
"1 1(2° -1
S Bzed S, = ) Sy = 2"
r—1 2-1
=3(1023) = 3069
iy srewrs. 16 + 17 + 18 +..... + 75

16 +17+18+.....+75

=(1+2+3+....+75)—
(1+2+3+.....+15)

_ | n(n+1)| | n(n+1)

2 2
=2850-120=2730

Siey:
P +10°+....+21°
=(1P+22+3.. +213) - (1P+23+33.....+ 8%

_ {n(n;l)r_ |:n(n2+1)}2

_ {21x(21+1)}2 B [8><(8+1)T

2 2
= (231)> - (36)* = 52065

Hereumd Qgriseflar sa(Hsameos srewrs.

i 6*+7*+8+...+21%
(i) 10° + 11% + 123 +..... + 20°

i 62+72+8%+ ... +21°
=(124+22+3%2.....+21%) -
(12+22432....+5%
B n(n+l)(2n+1) n(n+1)(2n+l)

6 6
_21x(21+1)(42+1) 5% (5+1)(10+1)

6 6
21x22x43 5x6x11
6 6
=3311-55=3256

ii. 103+113+123+..... +20°
=P3+22+33+ ....+20° -
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g

[T ]
_ [202 21}2 - {9 x;oT

= [210]% — (45)? = 44100 — 2025

10. pz60 n BQued ecrewrsaflar sewrmsefler

Fa([H)Fe0 2025 eterfled n-wilerr i sremwrs.
(PS60 11 G160 6TEwBTSH6NN6TT 61TSSMBIGEM6TT
Fa(hze0 = 285

12+ 22432+ .....+n* =285

n(n+1)(2n+1) g5
2x3
n(n+1)(2n+1) _ Hes
6

n(nt+1) 2n+1) =285 %6 -—-(1)
(PS60 11 QU160 6T688T&6M6TT He6vTRIS 66N Fon (D FH60
=2025
P+2°+3+ . +n =2025
2
{—”(" s 1)} = 2025
2
n(n + l)

5 = 4/2025 =45

n(ntl) =45x%x2

~(2)

1) _ mntD(@2n+1)  258x6
(2) n(n+1) 45%2
2n+1 =19
2n =19-1
= 2n =18
n=9

. Gramailwy 10 Qs.5, 11 Q&.5, 12 Qs.S...,

24 Qs.f eteip LGS jerajeter 15 FZIy
Qllgal QIEHTERTS STHgmEsaT 2 aterer. PHS
uewTeRTS STHlGEISMmeTs ClETewT(h fTalaleTeay
urLienU w53 SeomSflHs (piqLd?

Siey:

QarsaLiLL(hesr 15 &5 aulg.6 eUETTETS
SNEFEISNETT LISS 6116 SH6T

10Q&.18 + 1160&.15 + 12Q&.18 + ..... + 246115
Sigest upliy = 107 + 112 + 127 + ... + 247

= (12422432 + ... +24?)
—(12+22+ ...+ 9

_ n(n+l)(2n+1) B n(n+l)(2n+l)
6 6
_ 24x25x49 9x10x19
6 6
= 4900 — 285
= 4615 Q&.15?
* % %

3. Swnsanfzb

2 P NICNLIEHTSH 6T

1. Jeraimeaustaunmlng 15.61um.o sremrs.
@) 4x%y, 8x’y?
(i) 9a’b*, 12a*b*c
(iii) 16m, 12m*n?, 8n*
V)p*-3p+2,p* -4
(V) 2x*—5x-3,4x*-36
(vi) (2x? = 3xp)%, (4x — 6y)%, 8x° - 27y°
giey:
i. 4x%y, 8x3y?
22x%y
832 = 232
- (4x%y, 8x*y?) -ev1 15.Qum.o =2°x%)% = 8x°)?
ii. 9a°b*, 12a*b*c
9a°h* = (1)(3)? a’b?
12a°b’c = 2> x3xa*x b xc¢
- (9a°b?, 12a°bc) -1 18.Qum.1o
= (1) x22x 32 x @* x b* x ¢ =36a’b*c

4x%y =

iii. 16m, 12m*n*, 8n?

16m = 2*xm
12m?n* = 22x3xm?xn?
8n? = 23 xp?

- (16m, 12m*n?, 8n?) -6 18.QlLm. 10

=2%x 3 x m? x n? = 48m*n’®

iv. pP-3p+2,p* -4
pPP-3p+2 = p-1H(p-2)
pP-4=p+r2)@p-2
(PP =3p+2,p°—4) -6 15.Qunm.o
=@-D@+t2) p-2)

v. 2x>—5x—3,4x*—36

22 -5x-3 = (x-3)(2x+1)
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vi.

5

4x*-36 = 4(x+3)(x-3)
5 (2x2 = 5x - 3, 4x* — 36) -ev1 18.Qlum.1o
—4(r—3) (x+3) 2x + 1)

(2x% = 3xp)%, (4x — 6y)°, 8x> —27y°
(2x* = 3xy)? = x*(2x —3y)?
(4x —6y)* = 23(2x-3y)?
8x*-27y° = (2x)*-(3y)?
(2x — 3y) (4x* + 6xy + 9)?)
S (2% = 3xp)%, (4x — 6y)°, (8x° —27)°) -ewr
5.6lum.o
=23 x x2x (2x = 3y)? (4x% + 6xy + 9?)
= 8x%(2x — 3y)* (4x? + 6xy + 9?)

&(H&SS.

3
i) 4x’y o 6xz4
27 20y
2 _ 2y p-12
ii) p —10p+21 P *Pp .
p-7 (p-3)
2 3 3
4x*y " 6xz _ 3x’z

222 2000 5y

p =10p+21  p’+p-12
p-7 (p—3)2

(p-7)(p-3) _ (p+4)(p-3)
(p=7) (p-3)

0.

Uereumd Careneusefler afleossiu
wiy srewrs.
j) x+10 pt2

8x 8p*+13p+5

giiey:

i 10 etev1D Camemeuwinesg
8x =0 (3606081) x = 0 e1emOCLINE)
QUM TWNISS QUeOTSHTHMS.
25Geu aflevgaliuL L i 0 g@Lb.

Tp+2

i ——
8p +13p+5

erevn Gamemeuwinesg)

8p*+ 13p + 5 =0 ggneug

Bp+5) (p+1)=0eadmHa

p= %S,p =1, eremdCung Canemeu

QUMTWNISHS QWeONTSSHTHMS).
sTeriGer, allevdaLILIL L LI s6r

— wHmw —1
3 DD

Spsaemi.  Commaisensi@ allossiuL
wgliyser QuouLLiler aunemns srewnTs.

y . t
i) i) ——
¥ —25 £ —5t+6
i x*+6x+8 ) x’-27
X' +x-2 X’ +x'—6x
giey:
y2325 s1e5in Camemeuwimeotg) > — 52 =0
y2_52 =0
y+5 -5 =0
Y+5=0,y-5=0

y=-5y=5
eTeIbCLIng) Careneu auenTWINI&HS
BueongsnHmg,.
- ellevdsliuL L wdUiLseT —5 wHmib 5.

ii. ﬁ erevn Canemeuwinenay
£-5t+6 =0
£-5t+6 =0
(t-2)(t-3) =0
t-2=0,t-3=0
t=2,t=3

e1em)bGLITg Camenel euemTwnISHS

BQueorasrSmg,.
- ellevdasliuL L wdlliygeT 2 wpmb 3.

i X r6x+8 _ (xt4)(x+2) x4
o +x-2  (x+2)(x=1)  x-1
x+4

erevtLgy) X — 1 = 0 e1embGLINg)

x—1
QUEDTMISSHLILIL_a16d6me6v.
ellevsasliuL L wdliyger 1.
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I e ———————
------ T s | 9. pmnheh onp wip Qoo
iv. = > QsrHssiuL(HeTers. Smuig.&
x*+x?—6x x (x tX- 6) SLORTUT(DSENETS SIT6ouTs.
_ (x— 3)(x2 +3x+ 9) @®-9,20 (@) é, 4
(+3=2) Sier ’
3X3 _227 __ 6'I'6!§TI_I§] x3+ x2 —6x=0 i. 79’ 20
X" +x"—6x Caemeuwnest @mLilg sesTUn(H)

6169 bGLING) euenWnISaLILL 6ledemev.
> x+3)(x-2)=0
= x =0 Ievevgl x = -3 IeV6vg X = 2
- eflevdsliuL L wéliysst 0, -3, 2
6. JeraumeuateunmieT auir&seLpeod STewrs.
400x4y12z16

o0y
x*y'z

Siey:

400x*y"z" 4522 _ y'z°

100x*y*z* ¥ x?

7. Spsseni Careneuseflar airssewpeold
SIT6VUT S,

i) 256(x — a)*(x — b)*(x — ¢)'(x — d)**
. 144a®p" "
W) ——
81f"g*h
Siey:
1) \/(256(x - a)8 (x - b)4 (x — c)]6 (x — d)zo)

=16 |(x—a)*(x-b)*(x — ¢)¥(x—d)10]
a‘*b’ct

i) 144a°p"c"* 4
11 ———— 7 — | .
81f12g4hl4 3 f6g2h7

8. Jetaumeusraunnier auirssepeod Srewrs.
121(a+b) (x+y) (b—c)
81(b—c)'(a—b)"(b—c)’
121(a+b)8(x+y 8(b—c
81(b—c)4(a—b 12(b—c)4

8

x> —[o+Blx+ap=0
X [9]x+20=0
= xX*+9%x+20=0
i. 2,4
3
Cxemeuwines @(mLilg. weTLm(H
x? — (epeomiseles &a(HFH60 LI6V6wT)x +
eypevmisehlest GlLmEsmHLIevss = 0

- x+4=0
BoUDWL 3 Sped ClUmSS
3x*-5x+12=0
10. Sipseregd  DmuUyE  FLSTUTHSHEHSHES

epevEisafler sa(HBed LHMID CLmHSSHED HTewTs.
(x*+3x—28=0 (ii)x*+3x=0
i) x¥*»+3x-28=0

a=1,b=3,c=-28

PLPEVMBIGATETT G (D60 LI6V6TT

b
=gtf=——=— 22—3
a 1
PLPEVEISATETT GILI(HESH60 LIGVEST
—ap= S =28 g
a 1

i) ¥*+3x=0
a=1,b=3,c=0
PLPEVMEISATENT G (D160 LIGV6TT

=atf=— b - 3-3
a 1
PLPEVEISATETT GILI(HEHSH60 LIGVET
—ap=S = 9_ )
1
(8 9 4 3)
- 7 V3 . .
11. A= 2 et yevsflufled,
1 4 3 0
6 8 -11 1

() e-muysefler erentenflsmaamnws srents.
(ii) jewflilesr euflens sremwrs.

A. SIVAMOORTHY, BT. Asst. GHS, Perumpakkam, Villupuram Dt.

Kindly send me your questions and answerkeys to us : Padasalai.Net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net

www.TrbTnpsc.com

6ILD6DED HHSLD LDTERTRUTEHEHSSTE mECILIB

29 (i+j)3
(iii) a,,a,,a,,a,,4a,a,,. o2 HULsemer @0 a,= i—2 (i) a,= 3
TR 5na|
L a,= ]l — 2]\
1) 2 miliysefe stesvrenisens a, a,
. :4X4:.16 ay Gy Ay
i) yeusnullest mﬁ]mf/_— 4 x4 a, a,
i) a, =7 a, =~ a,=5; |1 2| -4 fi-6] 1 35
=1[2-2| [2-4 |2-6]|=|0 2 4
Mm% el @l -2 p-4 -6] [1 1 3
12. Spseremd  PounE  swaLTQSERSS | 0000 e NS
epoorisafiar snH)B60 WHMID CLIMHESE) STewTs. i a. = (i+/) i ]
()X +3x—28=0 (i))x2+3x=0 3 8 4 o
a ay ay) |’ >
; 2 — _ 64 125
1. X + 3x - 28 - 0 a21 a22 a23 - 9 - —
3 3
a=1,b=3,c=-28 a, Ay, ay, 64 125
PLPEVMEISENETT G (DFHEV LIGOETT 3 3 72
:a—’—ﬁ:_ﬁ:_L_:; -------------------------------------- B R e —eee-
a 1 15. a; = i’ eredrm SyewoLienLs Qsmew 3 X 3
epevriseflei QlLimEsed LieveT mrﬂm&uml_u.l Sjewflenws srewrs.
g 28
—ap=S=-B-- 28 . .
a 1 3x3 euflemswenLw yewflullest Clung) auigeud
i) x>+3x=0 a, a, a,
a=1,b=3,c=0 A=|ay, ay, ay,|a;=i0"
PLPEVMEISATEVT G (D160 LIGV6TT a,, ay, a,
=a+5=_2=_%__3 = 12X12= 1x1 = 1; apy = 12x22 = x4 = 4;
a
12422 = _0. 92512 = -4
PEVEISENETT QILI(HEESE0 LIGVEST a3 =1537=19=9; ay =217 =4x1 =4;
=0‘B=£=2—0 =22X22=4X4=16'a23=22X32=4><9=36
a 1 =32x12=9x] = 9; g5, = 3?x22 = 9x4 = 36;
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